Hyperbolic Frequency Modulation (HFM) or 

Linear Period Modulation (LPM) Signal Definition
X(t) = sin( (2/b) ln( 1 + bt/P1 ) )    for   0 < t < T

   b = (f1  -  f2)/(f1 f2T)

   T = Pulse Length

    f1 = Start frequency ( t = 0 )

    f2 = Stop frequency ( t = T )

   P1 = 1/ f1   = The period of  f1

Why is it LPM?

      f(t) = (1/2)d /dt     where   = (2/b) ln( 1 + bt/P1 )

      f(t) = (1/2)d /dt = ( P1 + bt )-1
     P(t) = f(t)-1 = P1 + bt

Example Plot for 

  T = .01 s

  f1 = 1000 Hz

  f2 = 2500Hz
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